#### Mathematics Club Sequences And Series

**Satish V. Malik** Satish.Malik@uwe.ac.uk

http:www.uwe.ac.uk/~svmalik

Department of Mathematical Sciences

The University of Liverpool





Geometric Progression
 *n*th term of a Geometric Progression

Geometric Progression
 *n*th term of a Geometric Progression
 Sum of the first *n* terms

Geometric Progression
 *n*th term of a Geometric Progression
 Sum of the first *n* terms
 The Sigma (∑) Notation

Geometric Progression
 *n*th term of a Geometric Progression
 Sum of the first *n* terms
 The Sigma (∑) Notation

The Infinite Geometric Series

Geometric Progression

 nth term of a Geometric Progression
 Sum of the first n terms

 The Sigma (∑) Notation
 The Infinite Geometric Series
 Binomial theorem

Geometric Progression
 *n*th term of a Geometric Progression
 Sum of the first *n* terms

- The Sigma  $(\Sigma)$  Notation
- The Infinite Geometric Series
- Binomial theorem
- Some challenging examples

A geometric progression (GP) is a sequence of numbers in which any term can be obtained from the previous term by multiplying by a certain number called the common ratio.

A geometric progression (GP) is a sequence of numbers in which any term can be obtained from the previous term by multiplying by a certain number called the common ratio.

For a GP:

A geometric progression (GP) is a sequence of numbers in which any term can be obtained from the previous term by multiplying by a certain number called the common ratio.

For a GP:

first term is denoted by a.

A geometric progression (GP) is a sequence of numbers in which any term can be obtained from the previous term by multiplying by a certain number called the common ratio.

For a GP:

- first term is denoted by a.
- common ratio is denoted by r.

A geometric progression (GP) is a sequence of numbers in which any term can be obtained from the previous term by multiplying by a certain number called the common ratio.

#### For a GP:

- first term is denoted by a.
- common ratio is denoted by r.
- the *n*th term is given by  $ar^{n-1}$ .

Mathematics Club – p.4

The sum of the first *n* terms is given by:  $S_n = a + ar + ar^2 + \ldots + ar^{n-1}$ 

$$S_n = a + ar + ar^2 + \dots + ar^{n-1} \\ = a \left(\frac{1 - r^n}{1 - r}\right), \quad r < 1,$$

$$S_{n} = a + ar + ar^{2} + \dots + ar^{n-1}$$
  
=  $a\left(\frac{1-r^{n}}{1-r}\right), \quad r < 1,$   
=  $a\left(\frac{r^{n}-1}{r-1}\right), \quad r > 1,$ 

$$S_{n} = a + ar + ar^{2} + \dots + ar^{n-1}$$
  
=  $a\left(\frac{1-r^{n}}{1-r}\right), \quad r < 1,$   
=  $a\left(\frac{r^{n}-1}{r-1}\right), \quad r > 1,$   
=  $na, \quad r = 1.$ 

Let

 $u_1, u_2, u_3, \ldots, u_n$ 

be the *n* terms of the sequence.

Let

 $u_1, u_2, u_3, \ldots, u_n$ be the *n* terms of the sequence. The sum of the first *n* terms,

Let

 $u_1, u_2, u_3, \dots, u_n$ be the *n* terms of the sequence. The sum of the first *n* terms,

$$S_n = u_1 + u_2 + u_3 \dots + u_n$$

#### Let

 $u_1, u_2, u_3, \ldots, u_n$ be the *n* terms of the sequence. The sum of the first *n* terms,

$$S_n = u_1 + u_2 + u_3 \dots + u_n$$
  
=  $\sum_{r=1}^n u_r$ 



$$1+2+3+\ldots+n$$

$$1 + 2 + 3 + \ldots + n = \sum_{r=1}^{n} r$$

$$1 + 2 + 3 + \ldots + n = \sum_{r=1}^{n} r$$
$$= \frac{1}{2}n(n+1)$$

The sum of the first *n* natural numbers,

$$1 + 2 + 3 + \ldots + n = \sum_{r=1}^{n} r$$
$$= \frac{1}{2}n(n+1)$$

The sum of the first *n* natural numbers,

$$1 + 2 + 3 + \ldots + n = \sum_{r=1}^{n} r$$
$$= \frac{1}{2}n(n+1)$$

$$1^2 + 2^2 + 3^2 + \ldots + n^2$$

The sum of the first *n* natural numbers,

$$1 + 2 + 3 + \ldots + n = \sum_{r=1}^{n} r$$
$$= \frac{1}{2}n(n+1)$$

$$1^2 + 2^2 + 3^2 + \ldots + n^2 = \sum_{r=1}^n r^2$$

The sum of the first *n* natural numbers,

$$1 + 2 + 3 + \ldots + n = \sum_{r=1}^{n} r$$
$$= \frac{1}{2}n(n+1)$$

$$1^{2} + 2^{2} + 3^{2} + \ldots + n^{2} = \sum_{r=1}^{n} r^{2}$$
$$= \frac{1}{6}n(n+1)(2n+1)$$

# **Some Important Formulae**

The sum of the cubes of the first n natural numbers,

$$1^3 + 2^3 + 3^3 + \ldots + n^3$$

# **Some Important Formulae**

The sum of the cubes of the first n natural numbers,

$$1^3 + 2^3 + 3^3 + \ldots + n^3 = \sum_{r=1}^n r^3$$

# **Some Important Formulae**

The sum of the cubes of the first n natural numbers,

$$1^{3} + 2^{3} + 3^{3} + \ldots + n^{3} = \sum_{\substack{r=1\\ r=1}}^{n} r^{3}$$
$$= \frac{1}{4}n^{2}(n+1)^{2}$$

Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

n

 $S_n$ 

Mathematics Club – p.8

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

 $\frac{n}{S_n}$ 

2

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

$$\begin{array}{c|c}n & \mathbf{2}\\\hline S_n & \mathbf{1.5}\end{array}$$

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

 n
 2
 10

 S\_n
 1.5

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

 $\begin{array}{c|ccc} n & 2 & 10 \\ S_n & 1.5 & 1.998 \end{array}$ 

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

 n
 2
 10
 20

 S\_n
 1.5
 1.998

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

n21020S\_n1.51.9981.99998093

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

 n
 2
 10
 20
 30

 S\_n
 1.5
 1.998
 1.99998093
 30

#### Consider the series

$$1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \dots + \left(\frac{1}{2}\right)^{n-1} + \dots$$

$$S_n = \left[\frac{1 - (\frac{1}{2})^n}{1 - \frac{1}{2}}\right] = 2\left[1 - \left(\frac{1}{2}\right)^n\right]$$

n2102030 $S_n$ 1.51.9981.9999980931.99999998

As  $n \to \infty$ ,  $S_n \to 2$ . This limit is the sum to infinity of the GP.

As  $n \to \infty$ ,  $S_n \to 2$ . This limit is the sum to infinity of the GP.

Sum to infinity of a GP:

$$S_{\infty} = \frac{a}{1-r}, \qquad |r| < 1.$$

### (1+x) = 1+x

(1+x) = 1+x $(1+x)^2$ 

$$(1+x) = 1+x (1+x)^2 = 1+2x+x^2$$

$$(1+x) = 1+x (1+x)^2 = 1+2x+x^2 (1+x)^3$$

$$(1+x) = 1+x$$
  

$$(1+x)^2 = 1+2x+x^2$$
  

$$(1+x)^3 = 1+3x+3x^2+x^3$$

$$(1+x) = 1+x$$
  

$$(1+x)^2 = 1+2x+x^2$$
  

$$(1+x)^3 = 1+3x+3x^2+x^3$$
  

$$(1+x)^4$$

(1+x) = 1+x  $(1+x)^2 = 1+2x+x^2$   $(1+x)^3 = 1+3x+3x^2+x^3$  $(1+x)^4 = 1+4x+6x^2+4x^3+x^4$ 

J

$$(1+x) = 1+x$$

$$(1+x)^2 = 1+2x+x^2$$

$$(1+x)^3 = 1+3x+3x^2+x^3$$

$$(1+x)^4 = 1+4x+6x^2+4x^3+x^4$$
Pascal's triangle.

(1+x) = 1+x  $(1+x)^2 = 1+2x+x^2$   $(1+x)^3 = 1+3x+3x^2+x^3$   $(1+x)^4 = 1+4x+6x^2+4x^3+x^4$ Pascal's triangle.

1 1

(1+x) = 1+x  $(1+x)^{2} = 1+2x+x^{2}$   $(1+x)^{3} = 1+3x+3x^{2}+x^{3}$   $(1+x)^{4} = 1+4x+6x^{2}+4x^{3}+x^{4}$ Pascal's triangle.  $1 \quad 1$ 

1 2 1

(1+x) = 1+x $(1+x)^2 = 1+2x+x^2$  $(1+x)^3 = 1+3x+3x^2+x^3$  $(1+x)^4 = 1+4x+6x^2+4x^3+x^4$ Pascal's triangle. 1 1 1 2 1 3 3 1 1

$$(1+x) = 1+x$$

$$(1+x)^{2} = 1+2x+x^{2}$$

$$(1+x)^{3} = 1+3x+3x^{2}+x^{3}$$

$$(1+x)^{4} = 1+4x+6x^{2}+4x^{3}+x^{4}$$
Pascal's triangle.
$$1 \quad 1 \quad 1$$

$$1 \quad 2 \quad 1$$

$$1 \quad 3 \quad 3 \quad 1$$

$$1 \quad 4 \quad 6 \quad 4 \quad 1$$